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MM NODN, D and NNOHN,

MXND OIPNI NN NYN, creates a NN,
DYV NAVY VN, will VD their MY,
DY MXNis not NMT, a NI 12 OV IND.

AMNNor YNNI NI N1 HNY &=

PNN ON, INDI, various examples of YMNN,

MY and their MY, are MON to the brothers,
They become ‘71\’)7 MM, free to marry others.

XX is an example, where we find an NYY,

Overrides DYND2, an ordinary NYYN XY,

Although TN like T3 and N3, are PIND NMT with NI,
Each has a special X2, such as TN and MMN>I2.

How to darshan ij’b)’, became a four-9T mystery,

Rather than MON an MY for DI, | may have thought YINYN MINYNI D0NON,
How do we know to be PN, MXN DIPNI XOW NN,

Either NN or NN NIN to NVY, we learned from IIND.

PIAN YN MY, either his NOIIN or NNV,

PAN YID a NPIPNNY, does it also include his NONN,

When }’12‘{5 2N fall for DY, can we say their NPY decreases,
M2 92”N,PONN PN TP PR =

For every case a solution, always a fix,

Were there two brothers or four, or even up to six,

Cases that are so rare, that don’t happen with frequence,
DM YN TN, must follow the exact sequence.



A DY or NVID P90, the status of an TPNN, an NIPY,
NONIVN INWIN) IMNNIN, the status of her NIY,

DTOP NPRY TPNIND VI ,TON IWN NDAN PN *=
AN N1 NMIN, a NINDN NN,

DN DY NNIN, even without her consent,

She will need a full V), if there is ever discontent,

NN NONY NMNKY, MY NIMN MY NNHOND =
Y'Y went through each of the cases, every NNPIN.

AT PUYTP, where the status is pending,

Performs M%) to the husband, and their marriage is ending,

Former ©>2Y9)7 are now permitted, should they be found suitable and attractive,
YN is an annulment, completely retroactive.

NPT THINK NNNDON NN =

NNPRD TINNDND NN NVIINNDD TIRD)Y - =

MMNN NPIY WY, where PYYTP was never DI,

The MY MIX becomes IMN, without performing any NON.

NNV 1P permitted MX)D OIPN MY MO, cheper’ing with the ©INd of THMNT,
Since DDN 11 held they were ThYIY, it was T MN YNV RNY,

How did the D191 react, now that YTTNNN ND was breached,

Did NN M1 follow their MY, did they practice what they preached?

JNIY N2 DY XAN TAY) DMDY, a NPINN if there is TN,
One who is YN DWD )N, is a questionable DY),

719252 PON PYTP PN, is this NI VIVIN N,

NNIND NN NYN PPN XD, there is no M.



DXNN Y YD, ANRN I there must be MNN,

DN )9 YNNI VI, who is not W his NONY,

YT requires, a DIV NNN N,

DIV PN NOY PNN NUNRD VI, who remains DDIYD NON.

But )WV Y argues in the MW, forcing us to be YN,

Is he P2 N only in that case, or also on the YW on 1",

If YPVYNIVY was DI before "D was born, would the previous NN leave him,
Only 91 NODY DI, or even DI NODY TON.

Even Artscroll can’t define it, what is it TWYNY,

Do we say NP, is a AT or NIMIINT,

How exactly do we gauge, the strength of a NP,

s it strong only with one brother, but NN N1 it is weaker.

NITINK DN PNX YTPY D NIV, she is the sister of a NPT,
Does the NjY last even NN NND, or is NDNDD NPR,

TAN 112D PRIAN M2 ONVY, from one house - two are comin’,
202 N NPT, TNR D N &=

MXND NONK, NYIYTP MOIN, would that create a lesser NP,
NOND N, D1 NN DD -

NN, MMNDN, or NWYI), although he may have to leave her,
PYYTP is IND 12PN DM, except NDPY I VM.

As a 2D to TNY, the DMIDN instituted NNV,

2 NDD, 1N NYI, we learned the list with MNP,
While 0NN 2 some NMIY, are only paternal,
DKM 12 ARN NN NYNK, they added maternal.



Daughters-in-law of your child, your father’s or mother’s mother,
The daughter of your stepson, and the wife of your mother’s half brother,
AOWOY, 3 YA, how many generations,

How far are we M), in these situations?

A NN counts as a )3, to MV from DI and to WP,

12 PN 1), POY PV we W,

DYN NN is XKDIMNNRTN, as is YN THNN,

NNIDN MNKN was added PYATTN, along with NPIPT MNNK.

N2 NNP N PRY NN DI, a N0, initially - NDMNNDY,
She remains NON as an NN NWN, like she was NDY9) NYV1,
Is a N2 that was YIY NTNY, NOMNI DNN NYVY,

IO POY NION), must he always dismiss her.

Does N create PNIV), or at least POIIN - X)DNON,
Is N9IN still needed, does NN create a NI P,
Now a V) will also be needed, if ©Y2> he refuses,

One thing about IIN)), it really confuses.

DNIVI PNN NYIIN, two of them to sisters,
DPNN and NPID), all cases that are twisters,

s ND9N NI, NXIDN NP NN,

Or is ND9N DNYNXIN PRIV, NPT MNNX NN,

Just two brothers together, is where most cases start,

Diagrams and pictures, and drawings off the chart,

Brothers that are knocked out, but somehow get up off the mat,
YR and )WY, seem to have more lives than a cat.



9YTX2 MND, in every NNV,

Although we begin with the 9231, N2y YOPN OTP,
DY) NNOON YOP NN, who better to be DPP,
Must DY2> TN be performed, only DIV DWD.

SNON DY DN MON QPO NON ,IND NOON &=

NIND 92T DYV ,NNN DA NOOR - =

Not to perform a NNDN, when to this very woman it is not needed,
YN M DTN 7OV XD, when others still need it.

MW P9, begins a whole new segment,

NNDY \{bmn, and discovers that she is pregnant,
NN NN ONDN, once again what a bummer,

A DNV or NDN DYN, will the 72 be a NP 1.

N ND DTN NIPIN NPYM NN) - =
Is a NI2IWN NNODN, NNON NNV,
NANODD)] , DI POD =

N1D DI ,0 NP0 =

N TY DI N TON, PIND outside,

NNNVY T292) her NAIND, Y02 DY of her husband who died,
Dyan >UIY, AN OV, NAIND and DXDI),

MO Y0I), 2372 XN YD), possessions DIDIDINN.

M) OWY 1NN NN ONON, or any other obsession,
DY NN N ONDN, in his brother’s possession,
NTY N )7 NN, NNYONis recommended,
NXIONA NPV YN, the NOIN was extended.



A N2 can’t proceed, DVTN NWYOYW ND WOV Ty,

Separation is needed by TMDYIN and NIV, DOWIN DD INY ),
NOPD NYYN 72 PO0 ,NN0ON TAN , DY) TN =

The need for NINAMN, XINAY NYAV 72 PAD.

910 N9Y DALY ), he is missing DY,

92V N9 DN, if he is lacking 192V,

Must there be a complete 9y 3'173‘7, not lacking NN MINN DN,
JDNSDI ORI D) DY &=

MWD INVN, is it only from an TN MOIN,
Is it also from XD YNOIN, or only TN T,
ANNIDN NN, NP DT IM) &=
INNON XY NNN N XY NDNRY D) e

NI NN IMNNAD PR, but what are we now to do,
32 N2 V) ,NNDN INN NNOON KDY &=

DIYD NNON NN X, whatever was intended,
YNNNI P2 NDNNA P, PAif it was how it ended.

When dealing with two )220, if a D> wasn’t selective,
After a MMNN or V), what actions are effective,
JINNID V)R IMIND N V) =

INPRD NNON NI NOOM N NND - -

1NN HY NAN, how much is he NP,

Even DNJ, X)W1 or T%2], YNNX 1P he is NN,

The N9) brought DYDY, along with many NPNY,
NIV is considered NN, Y)Y almost all NIY 2T,



No eating of NMYIN, for a NYIDI NNAD NINNYN,

A NN to a DIT) NI, is this less of a NDINI,

Does two times or three make a NN, for N2, PN or a cycle,
While a T allows one to eat, an 92 is DYINND ION.

Can one fulfill P29 N9, if both children were to be male,
991 12 require a 193, along with a female,

Do we say ©%)1 )31, 01D N >IN,

DNV VY NNY ,NNYY NUNR RY) =

NNION WYY, those that are NNNOD NDIDY,
Are they 99N or 97NN, WY or NN,
YN NONN DN MD e
DIMYN NNAY NNV NIP) &=

A DY), an DY, a WIN, a fetus,

An 92 will 9109, and also won’t feed us,

DNP Y09, NNND INDI, a D1T) YD to an NIIDN,
An T2y, an DY, RIDNT MN I PIp.

An X, a DY D120, a RNV or DN I0INY,
For VTP or AWYN, NN or NI,

D2 NOXR YN, AN or MNNY,

TNT DYDY TY, a XINN or INTN.

DI and OPN), we have to NP VOND,
A DIVDIV or ODINITIN, really messes up,
The DMND of an TMNDN, a DIV YT DD,
NOT WIX9, NDOY M, a O] UV,



PIATTN, MMIN is NON to a INIY NI, who is 12D NONNNY,
It is not for a D> NIV, or a 1NN NIV DNV,

If left without children, a )N or MY,

She can return to NN or IWYN, NN N2 YN Naw.

PN PNONY JIOYID MmN vy =

NMPOYAD PNONY )MNDD MMy =

NIIDN NWIY LYTN NI, and she fell to a 2YT) Y12 his brother,
DY NWIY NI, but the NN and NN are NON to each other.

OO NPTND N0V TONY NUND =

She waited and waited, and home he did not come,
Is he alive or dead, what is it that delayed him,
AN from T 11 is needed, based on two DTY.

,IVI9)D TY ,NYUN 91D NYN o

To be NN an NN)Y, OMINN were made,

Because of 2973 MD)IP, and the penalties that it carries,
NI RPMT NYNK, a woman investigates before she remarries.

Should the husband now return, the list is very long,
No N2AYND or MY, the punishments are strong,

TP IUYNL DN MY M NDY -
APITI NN N ,NINONNIND =

122 NOYA TONY NWNDN, now who died first,
Was it her husband and then her son, or was it reversed,
DO NOYA NN ,NI IR -

THYN DN Y Y99, and he married the sister of his missus.



NNINY NOYA NOONVY NWND, they set out to travel,
Here again who died first, we try to unravel,

Was it Y2y N1, %2 T NN,

Or did the son die first, and she can't be set free.

The consequences of the NN, of a NYVYN )2 VP and a day,
Is it comparable to a NN, of a DV T in a way,

For a confirmation of a N)J, you can’t just identify his clothes,
Not just his height or his size, you need his 9)X¥99 with a nose.

s there an MINN NN for those that convert, NY) INND,
INTYDY YN MN of a child, was it done with mapan,
]ﬂ’m‘rb’ HYMVY DXV WIIN, we looked at each angle,
How to sort out the status, the 712YIVYN, how to untangle.

While learning the N0, right there in the middle,

A series of brainteasers, riddle after riddle,
| am my grandmother’s son, | am my mother’s brother,
| am related to myself, one way or the other.

A NTOY 29NV NN, Y)Y eating NN,

P, WIIN and WP, N2 and NNV,

DOVWIN ') NOYA NN NNNY XOY M, the DMION PN was not heeded,
If she then married a JN2, will XN still be needed.

INON MNN, exactly how to handle,

DMMT YOV, with a DY or DTV,

Her Nj?177 should be done correctly, not to deprive her,
With a mouthful of clear, visible saliva.



The MY must be read, in order - sequential,
DIV to be said, is NI essential,
Directly from the foot, not D¥NT Dy,

Three times they responded, D1 NYoN.

NINYON or O, or should she be TN,
We make sure to advise, an TN NXY,
One thing to remember, we must make mention,

It must be performed with NIND, NNY9N must be done with intention.

We proceeded to learn, the topic 11y,

The details and T291, of a young girl’s NN,

To protect a MVOP NIV, if her mother or brothers elected,
To marry her off 929713, that the N> now rejected.

A NWIN YV NPY, can be NN NN OND,

An PONWIY NYN, what can be done to appease her,

While YYD needs the NYT, of the woman becoming NYTPNN,
A ) only needs the consent, of the ¥I))2 not the HYNN.

NIoNYW NYND, a husband with his wife,
NN PNV YNI, and between them no strife,
The NYN is NINN), we trust what she stated,

As long as she is sure, and not estimated.

DTOYND DMINN) DON, to help her make her case,

0 ND DIIN DYTY YY) NN N TAX TY &=

Except from those that hate her, and on the list you must figure,
Her stepmother and her NIX, and of course her shvigger.
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Who will inherit, his and her DWYY,

Can she collect her N2YNY, like an NINYN or NWII),

VT 217 NN TON,TAN TY DWON IPNNRNIY DIPN DD *=
NN YIND DYWI NIV WY, just like two male players.

Can we use TMTY from an D™DY, or testimony from women,
From a 2P N2 or DN XD, is NIV a YD,

N0 N PRY D) N 290 MDY =

Do we need N PPM NYIT, for the TITY to DN VIND.

2V TIT ,MN2 NODN TOY 1T =

STV TNYTY, N NDDN TOY YNYT =

May our efforts in learning, so many difficult 19)2),
Bring the 21772 N2IN), and an end to our TN!
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